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CompareTwo{ public static void main(Stringargs[]){ double
d1=23.4. double d2=35.1. if(d2J =d1) System.out.printIn(d2 "1 ="
dl). else System.out.printin(d1 "0 ="d2).}}0 0 0o C\
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LeapYear{ public static void main(String args[]){ int
year=1989.//method1 if((year%4==0amp.year0!=0)||(year@0==0))
System.out.printin(year "isaleapyear."). else System.out.printin(year
"Isnotaleapyear."). year=2000.//method2 boolean leap.
If(year%4!=0) leap=false. else if(year0!=0) leap=true. else
If(year@0!=0) leap=false. else leap=true. if(leap==true)
System.out.printin(year "isaleapyear."). else System.out.printin(year
"Isnotaleapyear."). year=2050.//method3 if(year%4==0){
If(year0==0){ if(year@0==0) leap=true. else leap=false. }else
leap=false. }else leap=false. if(leap==true) System.out.printin(year "
Is a leap year."). else System.out.printin(year " is not a leap year."). } }
00O 00O0O CA\O java LeapYear 1989 is not a leap year. 2000 is a
leap year. 2050 isnotaleapyear. D U OO0 OO 1000000 O
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0 O O O public class GradeLevel{ public static void main(String
args[]){ System.out.printin("\n**firstsituation**"). char
grade=C.//normaluse switch(grade){ case
A:System.out.printin(grade " is 8501 100"). break. case
B:System.out.printin(grade " is 7001 84"). break. case
C:System.out.printin(grade " is 60L1 69"). break. case
D:System.out.printin(grade " is [1 60"). 100Test L1 [J [0 OO 00 OO 00 [
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